J) Spinzão

$$E_{n} = -h_{n}, \quad h = S, S = 1, \dots, -S + 1, -S$$

$$(a) \quad B = \sum_{n=0}^{S} e^{ph_{n}} \qquad a = -S$$

$$= e^{ph_{s}} \sum_{n=0}^{2S} e^{ph_{n}} \qquad m = \lambda + S \quad (n = -S)$$

$$= e^{ph_{s}} \left(\frac{1 - e^{ph_{s}}}{1 - e^{ph_{s}}}\right) \qquad \text{Univers} \quad \sum_{n=0}^{2S} \mathcal{X}^{n} = \frac{1 - \mathcal{X}^{L+1}}{1 - \mathcal{X}^{L+1}}$$

$$(b) \quad M = \langle \lambda \rangle = \frac{1}{2} \sum_{n=0}^{2} \lambda e^{ph_{n}}$$

$$= \frac{1}{2} \frac{1}{p} \frac{2}{ph_{s}} \sum_{n=0}^{2} e^{ph_{s}}$$

$$= T \frac{2}{ph_{s}} M \frac{2}{ph_{s}}$$

$$= -\frac{QF}{2h} \qquad \text{where} \quad F = -T Rm \frac{2}{ph_{s}}$$

(c) using the result from (a):

$$M = T \frac{Q}{Qh} lm \left(\frac{e^{-\beta h \leq (1 - e^{\beta h}(2 \leq t_1))}}{1 - e^{\beta h}} \right)$$

$$= -5 + T \left[-\frac{p(2 \leq t_1) e^{\beta h}(2 \leq t_1)}{1 - e^{\beta h}(2 \leq t_1)} \right] - T \left[-\frac{p e^{\beta h}}{1 - e^{\beta h}} \right]$$

$$= -5' + \frac{(2 \leq t_1)}{2} \left\{ \frac{1}{2} \operatorname{cod} h \left[\frac{(2 \leq t_1) \beta h}{2} \right] \right\} - \frac{1}{2} \left\{ \frac{1}{2} \operatorname{cod} h \left(\frac{\beta h}{2} \right) \right\}$$

$$M = (25+3) \cosh\left[\frac{(25+3)}{2} \cosh\left[\frac{(25+1)}{2}\right] - \frac{1}{2} \cosh\left(\frac{25}{2}\right) + \frac{1}{$$

we can write this in tours of the Drillouin function

$$B_{s}(x) = \frac{2S+1}{2S} \operatorname{cohn}\left[\frac{(2S+1)}{2S}x\right] - \frac{1}{2S} \operatorname{cohn}\left(\frac{x}{2S}\right)$$

we then get

(d) charly, it is more convenient to analyse the normalised mognetization

$$m = \frac{M}{s} = B_s(phS)$$

This will thus depend only on phS, so it suffices for us to



Brillouin function

clase to z=0, we can use

$$\operatorname{colh}(x) \cong \frac{1}{2} + \frac{x}{3}$$

to get

$$B_{S}(x) = \frac{(2S+1)}{2S} \left[\frac{2S}{2S+1} \frac{1}{x} + \frac{2S+1}{2S} \frac{x}{3} \right]$$
$$- \frac{1}{2S} \left[\frac{2S}{2S} + \frac{1}{3} \frac{x}{2S} \right]$$
$$= \frac{(2S+1)^{2}}{(2S)^{2}} \frac{x}{3} - \frac{1}{(2S)^{2}} \frac{x}{3}$$

$$= \frac{1}{45^{2}} \frac{(45^{2} + 45) \times 3}{3}$$
$$= \frac{5+1}{5} \frac{1}{3}$$

This

$$B_{S}(x) = \frac{S+J}{3S} \times \chi < \chi < J$$

THE, for low enough fields we get

25

$$m \approx \frac{5+1}{35}$$
 ghs = $\frac{5+1}{3}$ h
35

This is again arrie's low: make with a coefficient VT. The coefficient in front is seen to increase with S: lorger spens imply

Thus

$$\lim_{x \to \infty} B_{S}(x) = \mathcal{L}(x) = \infty H_{1}(x) - \frac{1}{x}$$

In the classical limit the magnetization thus become

$$m = \frac{M}{S} = \mathcal{L}(qhs)$$

The linear response for law fields become

$$E = -hS\cos\theta$$

$$z = 4\pi \frac{such(phs)}{phs}$$

(b)
$$M = T \frac{\partial}{\partial h} lu \tilde{z}$$

$$= T \left\{ \begin{array}{l} P^{5} & \frac{\cosh(phs)}{\sinh(phs)} - \frac{1}{h} \right\}$$

$$= S \cosh((phs)) - \frac{1}{ph}$$

$$\therefore \qquad M^{2} = \cosh((phs)) - \frac{1}{phs} = -C(phs)$$

where L(r) is the Langerin function.

(c)
$$E = -hS \cos \Theta - \frac{k}{2} \cos^2 \Theta$$

 $2 = 2\pi \int dz e^{phSz + pkSz^2/2}$ No analytical solution.

For low field we can expand

$$2 = 2\pi \int_{-1}^{1} dz e^{\frac{2}{5}kSz^{2}/2} + 2\pi \varphi hS \int_{-1}^{1} dz = e^{\frac{8}{5}kSz^{2}/2} + 2\pi \varphi hS \int_{-1}^{1} dz = e^{\frac{8}{5}kSz^{2}/2} + 2\pi (\frac{2}{5}hS)^{2} \int_{-1}^{1} dz = 2^{2}e^{\frac{2}{5}hSz^{2}/2}$$

Let
$$R_{m} = \int dz z^{m} e^{\beta k 5 z^{2}/2}$$

Thun
$$2 = 2T \left\{ R_0 + \frac{(phS)^2}{2} R_2 \right\}$$

The magnetization then becomes

$$M = T \stackrel{a}{\rightarrow} en \mathcal{E} = T \frac{(\beta \delta)^2 h R_2}{R_0 + (\beta h \delta)^2 R_2/2}$$

To leading order in h, this reduces to

$$M = \frac{5^2 R_2}{T R_0} h$$

This is no larger in the form of cirie's low runce Rn depends on T.

3) LMG, post 1:

For S=1, we have 3 states 11>, 10> and 1-1>. Using (14)

$$5_{+}|_{A} = \sqrt{(1-4)(2+4)}|_{A+1}$$

Thus

$$S_{+}|i\rangle = 0 \qquad S_{+}|o\rangle = \sqrt{2}|i\rangle \qquad S_{+}|-i\rangle = \sqrt{2}|o\rangle$$

$$|i\rangle |o\rangle |-i\rangle$$

$$= 3 \qquad S_{+} = \begin{pmatrix} 0 & \sqrt{2} & 0 \\ 0 & 0 & \sqrt{2} \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} c_{1}| \\ c_{0}| \\ c_{1}| \end{pmatrix}$$

From this its easy to get

$$S_{-} = S_{+} = \begin{pmatrix} 0 & 0 & 0 \\ \sqrt{2} & 0 & 0 \\ 0 & \sqrt{2} & 0 \end{pmatrix}$$

Thun

$$S_{n} = \frac{S_{1} + S_{2}}{2} = \frac{1}{\sqrt{2}} \begin{pmatrix} 0 & 1 & 0 \\ 1 & 0 & 1 \\ 0 & 1 & 0 \end{pmatrix}$$

$$S_{y} = \frac{S_{1} - S_{2}}{2i} = \frac{1}{\sqrt{2}} \begin{pmatrix} 0 & -i & 0 \\ i & 0 & -i \\ 0 & i & 0 \end{pmatrix}$$

And, of course
$$\begin{pmatrix} 1 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & -1 \end{pmatrix}$$

(b)
$$H = -hS_{z} - \frac{k}{2S}S_{z}^{2} = -\begin{pmatrix} h + k/4 & 0 & k/4 \\ 0 & k/2 & 0 \\ k/4 & 0 & h - k/4 \end{pmatrix}$$

The eigenvaluer are

$$E_{\pm} = -\frac{k_{\pm}}{4} \pm \sqrt{h^2 + (w/4)^2}$$
 $E_{0} = -\frac{k}{2}$

$$z = \sum_{n} e^{\beta E_{n}}$$

$$= e^{\beta E_{n}} + e^{\beta E_{1}} + e^{\beta E_{2}} \qquad \Omega = \sqrt{h^{2} + (k/4)^{2}}$$

$$= e^{\beta k/2} + e^{\beta k/4} \left(e^{\beta \Omega} + e^{\beta \Omega}\right)$$

$$\therefore = e^{pu/2} + 2e^{pu/2} \cosh(p\Omega)$$





For low T, the heat capacity in anly significant around h=±1



T=0: entropy tends to the degeneracy of the GS. GS in man. degenerate for h = 0 and doubly degenerate for h=0, so S= ln2. T-000: S tends to the dimension of the Hiebert space, S= ln3.



4) Sprin Coherent Stakes

A sandwich eike $e^{i\phi S_2}(...)e^{i\phi S_2}$ performs a votation around the 2 ancis by a value ϕ . we can see this using the BCH formula to compute

$$e^{i\phi S_{2}} S_{x} e^{-i\phi S_{2}} = S_{x} + i\phi [S_{2}, S_{x}] + (\frac{i\phi}{2!})^{7} [S_{2}, [S_{2}, S_{x}]] + \dots$$

$$= S_{x} + i\phi (iS_{y}) + (\frac{i\phi}{2!})^{7} S_{x} + (\frac{i\phi}{3!})^{3} (iS_{y}) + \dots$$

$$= S_{x} \left(1 - \frac{\phi^{2}}{2!} + \frac{\phi^{4}}{4!} - \dots\right) - S_{y} \left(\phi - \frac{\phi^{3}}{3!} + \dots\right)$$

in
$$e^{i\phi S_2} s_x e^{-i\phi S_2} = S_x \cos \phi - S_y indBy symmetry are may prese that $e^{i\phi S_2} s_y e^{-i\phi S_3} = S_x rind + S_y \cos \phi.$
Similarly $e^{i\phi S_3}$ will rotak by ϕ around $y:$$$

$$\langle S_{\mathcal{H}} \rangle = \langle \Theta, \phi | S_{\mathcal{H}} | \phi, \phi \rangle$$

= $\langle S | e^{i\Theta S_{\mathcal{H}}} e^{i\phi S_{\mathcal{H}}} S_{\mathcal{H}} e^{-i\Theta S_{\mathcal{H}}} | S \rangle$
= $\langle S | e^{i\Theta S_{\mathcal{H}}} [S_{\mathcal{H}} \cos \phi - S_{\mathcal{H}} und] e^{-i\Theta S_{\mathcal{H}}} | S \rangle$
= $\cos \phi \langle S | e^{i\Theta S_{\mathcal{H}}} S_{\mathcal{H}} e^{-i\Theta S_{\mathcal{H}}} | S \rangle - iud \langle S | S_{\mathcal{H}} | S \rangle$
= $\cos \phi \langle S | [S_{\mathcal{H}} und + S_{\mathcal{H}} \cos \phi] | S \rangle$
= $un\Theta \cos \phi \langle S | S_{\mathcal{H}} | S \rangle + o \cos \phi \cos \Theta \langle S | S_{\mathcal{H}} | S \rangle$
 $S = un\Theta \cos \phi \langle S | S_{\mathcal{H}} | S \rangle + o \cos \phi \cos \Theta \langle S | S_{\mathcal{H}} | S \rangle$

Proceeding analogously:

$$\langle 5y \rangle = \langle 5|e^{i\Theta 5y}e^{i\Theta 5z} = 5y e^{i\Theta 5z}e^{i\Theta 5y}|5\rangle$$

 $= \langle 5|e^{i\Theta 5y}[5x \dots + 5y \cos + 5y \cos + 5y]e^{i\Theta 5y}|5\rangle$
 $= \sin \phi \langle 5|e^{i\Theta 5y}5x e^{i\Theta 5y}|5\rangle + 0$
 $= \sin \phi \langle 5|[5_{e} \dots + 5x \cos - 15]|5\rangle$

And gunally

$$\langle 5_2 \rangle = \langle 5 | e^{i\Theta Sy} e^{i\phi S_2} s_2 e^{i\phi S_2} e^{i\Theta Sy} | 5 \rangle$$

 $= \langle 5 | e^{i\Theta Sy} s_2 e^{i\Theta Sy} | 5 \rangle$
 $= \langle 5 | [S_2 \cos \Theta - S_x \sin \Theta] | 5 \rangle$

$$\langle S_2 \rangle = 5 \cos \Theta$$

5) LMG, port 2

$$H = -hS_2 - \frac{k}{2s}S_{\pi^2}^2$$

Using the results from the previous exercise, we get

 $E(\theta, \phi) = \langle \theta, \phi | H | \Theta, \phi \rangle = -h 5 \cos \Theta - \frac{1}{2} \sin^2 \Theta \cos^2 \phi.$

We now unimimize this with respect to I and \$.

$$\frac{\partial E}{\partial \Theta} = hSrm\Theta - kSrm\Theta \cos(\Theta \cos^2 \phi) = 0$$

$$\frac{\partial E}{\partial \phi} = uSrm^2\Theta \cos(\theta \operatorname{sup}) = 0$$

This gives two equations

$$\sin \Theta (h - k \cos \Theta \cos^2 \phi) = 0$$

 $\sin^2 \Theta \sin^2 \phi = 0$

one solution in

That is, the spin is in the north pole.

But if $h/k \leq 1$ there can also be a solution with $\oint_2 = 0 \text{ or } \Pi$ and $\cos \Theta_2 \circ h/k$.

This solution is 2-fold degenerate, since we can have either $\phi_2 = 0$ or $\phi_2 = \pi$.

The fact that are of the collections andy exist for h <k nipmols the critical field

at which the promtom phase transition occurs.

$$E_{1} = E(\Theta_{1}, \phi_{1}) = -hS$$

$$E_{2} = E(\Theta_{2}, \phi_{2}) = -hS(h/h) - \frac{h}{2} \left[1 - (h/h)^{2} \right]$$

$$= -\frac{h^{2}S}{h} - \frac{hS}{2} + \frac{h^{2}S}{2h}$$

$$= -\frac{h^{2}S}{2h} - \frac{hS}{2}$$

It is better to define

$$e = \frac{E}{kS}$$
 $\eta = h/k$



then

For h > hc the watern remains megnetized with 0=0,=0. But below h=hc the megnetization becomes cos0z = h/k. thus

M =
$$\langle S_2 \rangle$$
 = $Soos \Theta$ = $\begin{cases} S & h > hc \\ Sh/L & h < hc \\ 1 & 2 - h/L \\ 2 - h/L \\ 0 ampare His with the blue \\ conve in the gig of exercise 2e. \\ Three we used S = 1, so it was a \\ moch genetion. When S = so \\ His is replaced by a sharep transition.$

The phase he he is called the "broken phase". The reason is because in this phase a symmetry is broken. The Hamiltonion is symmetric under the change

or, what is equivalent, $\phi \rightarrow \phi + \pi$

when hohe this remains true for the pround tak. But for have the ground-state in degenerate and has <u>either</u> $\phi = 0$ or $\phi = \tau$. Thus, if the registern in in, e. 8., $\phi = 0$, the original symmetry in the Hamiltanian has been broken.